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QUESTION 1

How do you specify the type of owners that records in a business component may have? 

A. Add the business component to the appropriate Access Group. 

B. Add the business component to the appropriate responsibilities. 

C. Set the Owner property in the business component\\'s Properties window. 

D. Add the necessary owner types to the Business Component View Modes list for the business component. 

Correct Answer: D 

 

QUESTION 2

Which three are reasons why you would consider implementing a business policy using Siebel Business Rules?
(Choose three.) 

A. Business rules can be centrally developed and administered. 

B. Business rules do not require compilation of the repository file. 

C. Business rules are modeled using a precise graphical modeling language. 

D. Business rules typically execute faster than repository-based configuration. 

E. Business rules can be easily updated to implement rapidly changing business policies. 

Correct Answer: ABE 

 

QUESTION 3

You decided to use the S_CONTACT_XM table to store additional contact data. Which five new object definitions will
you need to create to display this data as child data in a Detail View format? (Choose five.) 

A. link 

B. view 

C. MVG 

D. applet 

E. MVG applet 

F. business object 

G. business component 

H. business object component 
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Correct Answer: ABDGH 

 

QUESTION 4

Which Siebel business entity represents businesses external to your company that could be a current or potential client,
business partner, or competitor? 

A. Contact 

B. Account 

C. Position 

D. Opportunity 

Correct Answer: B 

 

QUESTION 5

A few users want to see the Contacts screen tab to the left of the Accounts screen tab in the Call Center application
when they log in. Which action could you take to satisfy the requirement? 

A. Create a new position and assign the set of users to it. 

B. Blank out the sequence number for the Accounts Screen in the application object definition in Siebel Tools. 

C. Show the users how they can change the Screen Tab Layout in User Preferences when they log in to the Call Center
application. 

D. Change the configuration in Siebel Tools so that the Contacts Screen Override property is set to TRUE. 

Correct Answer: C 
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